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If the end stations of a line are free from local attraction, then the difference between fore

bearing and back bearing of that line should be

(a) 120° (b) 180° () 360° (d) 90°
The angle between the two plane mirrors of an optical square should be
(a) 30° (b) 45° (c) 60° (d) 90°

The whole circle bearing of line AB and AC are 18° — 15' and 335° — 45' respectively.

What is the value of the included angle CAB ?

(a) 307°-30 (b) 354°-0 (c) 177°-0' (d) 42°-30'
The two point problem or three point problem is method of
(a) Orientation (b) Resection (c) Traversing (d) (a)and (b)

Working edge of an Alidate is known as
(a) Ebonite edge (b) Fiducialedge (c) Straightedge (d) Graduated edge

A correction for error due to refraction is
(a) 0.01d*m (b) 0.001 d>m (c) 0.01122d*’m (d) 0.078d?’m
(where d is horizontal distance in km.)

Length of long chord in a simple circular curve having central angle © is

0 0 0 0
(a) Rsin ) (b) 2R sin 5 (¢) Rcos ) (d) 2R cos )
(where R is radius of the curve)
Planimeter is used for measuring
(a) Volume (b) Area (c) Slope angle (d) Contour gradient
The first reading from a level station is
(a) Fore sight (b) Intermediate sight
(c) Back sight (d) Straight sight
Correction for pull or tension in a tape is given by

(P-PyL P-Py
@  C=""AE ®) G ="TAE

(P -P)AE L
© Co=""¢ @ C=AEP-P,)
The fore bearing of a line is 150° 40'. Its back bearing will be
(a)  105°50 (b) 330°40' (c) 220°30 (d) 209°20
The size of a theodolite is specified by
(a) the length of telescope. (b) the diameter of vertical circle.
(c) the diameter of lower plate. (d) the diameter of upper plate.

The correction of sag is

(a) always additive

(b) always subtractive

(c) always zero

(d) sometimes additive sometimes subtractive

Series-A 2 KAU-03
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Tafaer stfirgsoT
TyaA-1
1. 3§ RIF FEG AHIT F YA €, a9 3T LA B HAR Al 3@ % S-KhEe qur
TSI fqHH | ST B
(a) 120° (b) 180° (c) 360° d 90°
2. VSN U I AT H I GHAA YU & S ST HI0T &A1 AT
(a) 30° (b) 45° (c) 60° d 90°
3. @1 AB @ W@ AC & 07 I fSpa ShHST: 18° — 15" T 335° — 45' § | 37=d 0T CAB &
AT T T 2
(@) 307°-30' (b) 354°—-0' () 177°-0 d) 42°=30'
4. T goen a1 Brfowg gme & fafr & |
(a) TSHe (Orientation) (b) Wid=sT (Resection)
(c) =AU (Traversing) (d) (a)Wd (b)

5. Tollee % HREHR] [FR S Fed & —
(@) TIAEE®HT (b)) RIS (c) e &R @) FafETa wR

6. 3TacH e % fow Feme= gar &
(@) 0.01d? . (b) 0.001 d?2 ., (c) 0.01122d? . (d) 0.078 d2 .

(STt d &ifast g3 & fopdlt )
7. HER IR d5h, (ST S BT 6 €, % (7w ot e S ofeg el &
(a) Rsin% (b) 2R sing (©) Rcosg (d 2R cosg
(STET R =15k =l f5ra ©)
8. WX ¥ AT &
(a) M (b) & (c) I (BT FIT(d)  HHI=H Hefore

9. TUH A H5 9 (o7 T TEA IS FEAN &
(a) oTTECAHT (b)  TEATEAHT (c) UvETeART (d) T TEAHT

10. 29 ¥ fgera 37er o9 % SR I[F (correction) FHT §RT FehTel ST &

(P-P,)L (P-P,)
@ C,=T"2g ®) G, ="TAE
(P—P,)AE L
© C=""_ @ C=AEP-Pp,
11. T 31 A - 150° 40' & | 30T 09a- [T gim
(@ 105° 50 (b)  330° 40’ () 220°30' d) 209°20'
12. TRTSNEe % 3R i ST STl &
(a) TR P TS 5T (b) XA =k & A §RT
(c) Tacl wie % =g g1 (d) T =T H AH G
13. 3T GOeE BT e
(a) WERT 4R (b) T TR
(c) W IA (d) = geHE T FOTHD

KAU-03 3 Series-A
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14. If the quadrantal bearing of a line is N 25° W, then the whole circle bearing of the line is
(a) S25°E (b) 205° (c) 335° (d) 295°

15. The R.L. of a point A on the floor is 100 m. The back-sight reading on A is 2.455 m. If the
fore-sight reading on the point B on the ceiling is 2.745 m, the R.L. of the point B will be
(a) 94.8m (b) 99.71 m (¢) 100.29 m (d 105.20m

16. The following consecutive readings were taken with a dumpy level and a 3 m staff on a
continuous sloping ground :
0.425, 1.035, 1.950, 2.360, 2.950, 0.750, 1.565, 2.450
Which of the above readings are back-sights ?
(a) 0.425,2.950,0.750 (b) 0.425,2.360, 0.750
(c) 0.425,0.750 (d) 0.425,2.950, 0.750, 1.565

17. The distance of the visible horizon from a height of 36 m above msl is given by

|36 [ 1 [ 36
(a) 06735 km (b) 36 0.6735 km (c) 0.06735 km (d)° 364/0.06735 km

18. The radial offset at a distance x from the beginning of circular curve of radius R is given
by

@ \RZ-22-R () R-\R-2 () R-\R2+2 @ +R2+2-R

19. The length and breadth of a field of area 33600 m?, on map is 12 cm and 7 cm
respectively. The R.F. of the scale will be
(a) 1:400 1 : 20 (c) 1:800 (d) 1:2000

20. If ©, and 6, are the angles of deviation from A to the top and bottom of a vertically held
rod of length ‘S’ at B. The horizontal distance AB is

S S

@) (tan 6, —tan 6,) () (tan 6, + tan 6,)
S S

(©) (d)

(tan 6, —tan 6) (tan B, X tan 6,)

21. An invar tape is made of an alloy of
(a) Copper and Steel (b) Brass and Nickel
(c) Nickel and Steel (d) Brass and Steel

22. The principle of “working from whole to part” is used in surveying because
(a) plotting becomes easy. (b) survey work can be completed quickly.
(c) - accumulation of error is prevented. (d) All of these

23. For a well conditioned triangle, no angle should be less than

(a) 20° (b) 30° (c) 45° (d) 60°
24. The statement “included angle is affected by local attraction” is
(a) true (b) partially true  (c) false (d) partially false

25. If the magnetic quadrantal bearing of a line is S 46° 30' W and magnetic declination at that
place is 2° 30" E, then true whole circle bearing of that line will be
(a) 229° (b) 224° (c) 148° (d) 48°

Series-A 4 KAU-03
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14. 3fs fordt T 1 aqaier fKeam N 25° W &, df STeR qui g e e
(a) S25°E (b)  205° (c) 335° (d) 295°

15. &9 W o uh a5 A % 99HET g (R.L.) 100 T § | 39 9 I qvamdetie 2.455 o § |
Ifs B9 W ferd a5 B W e 2.745 1. &, d o5 B &1 R.L. g
(a) 94.8 T (b) 99.71 =, (c) 100.29 . (d) 105.20 7.

16. U THT oiaet q€1 3 W, T (staff) ¥ FH=TaiEd shie qedis T AR gle] STHH W o T &
0.425, 1.035, 1.950, 2.360, 2.950, 0.750, 1.565, 2.450

SIS § F B F TIedTh TeaaeishT & ?
(a) 0.425,2.950, 0.750 (b) 0.425, 2.360, 0.750
(c) 0.425,0.750 (d) 0.425,2.950, 0.750, 1.565
17. 36 ™. A1e Hsaet (msl) F Sa1€ 9 gea-fafas 1 g et &
36 1 36
() 0.6735 & (b) 36 0.6735 T (c) 0.06735 E2ei] (d) 36\J0.06735 Tepett

18. ot geiia =k & IR fog & x @t 3 W B @@eh (offset), STafeh g & B R &, F
-

(@ \R2-x2-R (b R-4R2-x2 (¢) R-RZ+x2 (d RZ+x2-R

19. 3 5t O, [T ga%ar 33600 Hi2 €, % AFrEs W ofElE a9 e hHel 12 9 U
7 9 &, A AT % THM T WS o (R.F.) e 8
(a) 1:400 (b) 1:20 (¢)1:800 (d) 1:2000

20. B T IRATR €Y ¥ W U S’ o &l Th S W A | forger hivr, S0t qan Faet fay w foran
T E S AL O, T O, €, A AB i &St g3t Bt

S S

@) (tan 6, —tan 6,) (b) (tan 6, + tan 6,)
S S

() (d)

(tan 6, — tan 6 ) (tan 6, X tan 0,)

21. TR 0 (W M § ST S0 ¢ 2
(a) e SR 3em (b) et 3R Fepet
(c) TepeT 3R zomma (d) diaeT 3R @

22, QAT H “HYUN F SAITF" B H 1 (Ggid WA § w1 & Fifer v@r w2 4
(a)  ATCHE ol A T & S & | (b)  HAETUT T HTH ol T 1T & |

(c) . et =1 Toom w5 STl € | A TEad
23. %H;T T gierd Begst (well conditioned triangle) T &1E off SIvT fha 3791 ¥ &9 &1 &
9
(@) 20° (b)  30° (c) 45° @ 60°
24, T ATHYOT I HIOT i WA BT & 1 FE HUT B & 2
(a) & (b)  3TiTeTH Ter (c) T (d) e T
25. s fordt @ S TR Tt [KRAE S 46° 30' W ¥ 3R 39 =IH W gy K 2° 30' E
&, T 39 1@ 1 G U7 g G g
(a) 229° (b) 224° (c) 148° (d) 48°

KAU-03 5 Series-A
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26. Contour interval within the limits of a map
(a) may be constant.
(b) may not be kept constant.
(c) must be kept constant.
(d) may vary according to the configuration.

27. Closed contours with higher values outwards, represent a

(a) Hill (b) Pond (c) Plain surface (d) None of these
28. The process of turning the telescope about the vertical axis in horizontal plane is known as
(a) Transiting (b) Reversing (c) Plunging (d) Swinging
29. Plotting of inaccessible points on a plane table is done by
(a) Intersection  (b) Traversing (c) Radiation (d) None of these
30. The Standard Meridian of India is
1 1
(a) 35°E (b) 82§° E (©) 67§° W (d)  120°W
31. Which of the following closely represents the shape of the earth ?
(a) Spheroid (b) Ellipsoid
(c) Oblate spheroid of revolution (d) Prolate spheroid
32. Which of the following instrument is generally used for base line measurements ?
(a) Chain (b)  Steel tape (c)  Metallic tape (d) Invar tape
33. Two theodolite method to set a simple curve does not require
(a) linear measurements (b)  angular measurements
(c) Dboth (a) and (b) (d) None of these
34. The three-point problem can be solved by
(a) Tracing paper method (b) Bassel’s method
(¢) Lehmann’s method (d) All of these
35. How many links are there in a Gunter’s chain ?
(a) 50 (b) 100 (c) 150 (d) 200

36. The true length of a line is known to be 200 m. When measured with a 20 m tape, the
length is 200.80 m. The correct length of the 20 m tape is
(@) 19.92m (b) 1998 m (¢) 20.04m (d) 20.08m

37. The following figure shows entries in a field book for chain line AB. What is the distance
between trees T, and T, ?

AB
9 | 50 QT
5 20 QT
A
A
(a) 4m (b) S5m (c) 7m (d 12m

Series-A 6 KAU-03
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TS AHTES ! HHTe H qHeT STaRTed o

(a) TEaT@ IR | (b) THae =&l T@ T |

(c) 3E¥g & f9ad Tan =y | (d) foramg % YR 9T 9o ST Gehell & |
I THeT T UE [ TR B SR Tl e & GHIT @, ST &

(a) TS (b) dTE (c) wHAAHETR  (d) T @ HE T
TaIeiose =i qXEH T FEATER 37T % =RT 7R &St Fag H FHM I UfHAT I F1 Fd & 2
(a)  EhAT (Transiting) (b) faua== (Reversing)

(c) Tmsm (Plunging) (d) EICRE] (Swinging)

T el FAeToT § o {5t @i foh fafy @ smeifed e € 2

(a) TS a4 (Intersection) (b) WG &t (Traversing)

(c) fafeor fafy (Radiation) (d) T 9 HIS Tl

YR 1 HFeh Teied €

(a) 35°E (b) 82%° E (©) 67%° w (d)  120°W
ffafEd § § I Yoot ST Fi-Tehe SR USRI T € 2

(a) T (b) e

(c)  TTeaeT UfshyoT et (d) =rEie ey
JMURIET & |0 % TI0 GrEmd: 58 STHOT 1 SUANT {30 ST & 2

(a) SR (b) TrAW (c)  Hfceeh 20 (d) TER

Ty foreioee fafy g ST a3k 6t S % feTT {shgent sTeregehar el it ?
() WEHATMH (b)) HU@HTH  (c) (a)T (b)IAI (d) TTH G HIE TRl

fr-forg wma ot T foRan ST Ao €

(a) TG U fafy g1 (b) ¥ fafg g™

(c) oBgHd fafy grr (d) & |

T T i SKE (Gunter’s chain) o fope forep &t € 2

(@ 50 (b) 100 (c) 150 (d 200

Teh 1@ hl Tel of/ g 200 Y, & | STa Ueh 20 Hi. ! 29 § 14 T8 O« 39eh! oware 200.80 Hi. It
T | 20 HY, 2T 1 Tel TS = e ?
(@ 19.92.T (b) 19.98 =, (c) 20.04 . (d) 20.08 9.

FrAfefia o S @1 AB % g ush &im-qfee # fotfad 7 &t s € 1 g& T, W T, %
g i g8 FME ?

AB
9 | 50 QT,
5 | 20 QT
A
(a) 4T (b) 5. A (c) 7T (d) 124

KAU-03 7 Series-A
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38. The contour lines
(a) never intersect each other.
(b) always intersect each other.
(c) intersect in case of an overhanging cliff.
(d) None of the above

39. Minimum pitch of rivets should not be less than
(a) 3d (b) 1.5d (c) 2.0d d) 25d

40. The effective throat thickness of a fillet weld is
(a) equal to the size of the weld.
(b) afunction of the angle between the fusion sides.
(c) length of the hypotenuse of the triangle formed.
(d) 0.7 times the size of weld.

41. For a steel member in tension, the permissible stress in axial tension is given by

(a 0.5 fy (b) 0.6 fy (c) 0.66 fy (d) 0.75 fy
42. For a steel column, the permissible stress in axial compression depends mainly on
(a) effective length (b) sectional area
(c) radius of gyration (d) slenderness ratio
43. For simply supported steel beam, the maximum deflection should be
1 1
(a) 300 of the span (b) 325 of the span
1 1
(©) 350 of the span (d) 200 of the span

44. The member of a roof truss which supports the purlins is known as
(a) Principal rafter (b) Principal tie (c) Main strut (d) Sagtie

45. Most economical section for a steel column is
(a) Square section (b) Circular section (¢) Tubular section(d) Hexagonal section

46. The structural member in which the tensile force is acting parallel to its longitudinal axis

is called
(a) Tension member (b) Tie
(¢) (a)and (b) both (d) None of these

47. The load on a lintel is assumed as uniformly distributed, if the height of the masonry
above it is upto a height of
(a)  the effective span (b) 1.25 times the effective span
(c)  1.50 times the effective span (d) 2.0 times the effective span

48. The difference between gross diameter and nominal diameter for the rivets upto 25 mm
diameter is

(a) 1.0 mm (b) 1.5mm (¢) 2.0mm (d 2.5mm

49. The thickness of the gusset plate for column base should not be less than
(a) 6mm (b) 8 mm (¢) 12mm (d 40 mm

50. The angle of inclination of lacing bar with the longitudinal axis of the column should
preferably be between

(a) 10°to 30° (b) 30°to40° (c) 40°to70° (d) 80°to90°
Series-A 8 KAU-03
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T YEn

(a) W UH A BT Tel predl & |

(b) TIH UH THL i Hreall € |

(c) Vol 7 (overhanging cliff) § T T T e € |
(d) SR H F HE T

e =1 =aq saiae () ¥ 9 7l & AT |

(a) 3d (b) 1.5d (c) 2.0d (d 2.5d
fheic dog ot el S [ (throat thickness) &

(a) TS P SHR P SRR (b) T STt % ST & HIVT HT HAT
(c) & aTet BRIST % U7 i ofe (d) aeE & AHR H 0.7 AT

T % U T (tension) I % ToTW, 37t oA1G | ST Uit 61 914 &

(a) 0.5 fy (b) 0.6 fy (c) 0.66 fy (d) 0.75 fy

T & W & foT, 3nefia gl B o9 ufdeel e iR & &
(a) UEITERE W (b) UNSIATW  (c) URIHU Brear (d) AT ST W

T & Ueh EToATad 6% | Siteehas e g
1 1
(a) a@iﬁWﬁ (b) iéﬂ?j?‘lW%
1 1
(c) foregfer #1335 (d) T =1 55
I i WeRT 37 alcl B el & o i el
(a) 9= UwRX (Principal rafter) (b) =T A 3 (Principal tie)
(c) T 2% (Main strut) (d) et T 3T (Sag tie)
T % W o foru arcatyes fded) ai=se afar &
(a) SR UR=ST (b) TR URTT
(c) AfeTehrR Ui=s (d) TSR TR=T
AT 3T FOH SFaed 3T ol MR [S9T | o9 It &7 Y&l &, FHeelldl &
(a) A9 I (Tension member) (b) A (Tie)
(© (a) 3R (b)3FI (d) T Qg T
gl foeel I ) 1 G0 &0 § faaid 79 o srar 8, afe 3@ S0 oA,
ERIEGEDCE IRl
(a) T TR (b) TS W & 1.25 AT
(c)  JwTE W % 1.50 AT (d) Ve W % 2.0 T
25 fytt, =TT T % Rae & Tl Ue eifafed =19 § o< Bl ©
(a) 1.0 T, (b) 1.5 o, (c) 2.0 f=. (d) 2.5
TR o 3TN & [T TS ©iE ol HieTe Fefaiad 9 %9 T8t &1 o1ey
(a) 6o (b) 8. (c) 12 o, (d) 40 T,
4% B (lacing bar) T, TIRT HT 3 31T T ZHIT HIUT SRIT: % 99 T Ay |

(a) 10°d 30° (b)  30° % 40° (c) 40°d 70° (d) 80°F 90°

KAU-03 9 Series-A
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51. The effective length of battened column is increased by
@A 5% (b) 10% () 15% d 25%

52. If strength of joint per pitch length is equal to 2556 kg and original strength of plate per
pitch length is 4260 kg, joint efficiency will be

(a) 60% (b) 52.75% () 53% (d) 53.25%
53. Minimum size of weld for a 9.5 mm thick plate will be

(a) 4.0mm (b) 5.0 mm (¢) 6.0mm (d 8.0mm
54. The tensile strength of M25 grade concrete will be

(@) 3.5 N/mm? (b) 5.0 N/mm?

() 25.0 N/mm? (d) 35.0 N/mm?

55. The live load taken for the design of roof of an industrial building using truss which is
accessible, is
(@ 0.75kN/m?> (b) 1.5kN/m? () 2.0kN/m? (d) 5.0 kKN/m?

56. The slenderness ratio of a steel column supported throughout its length by a masonry wall is

(a) zero (b)y 10 (c) 100 (d) infinity
57. Astrutisa

(a) flexible member (b) compression member

(c) tension member (d) torsion member

58. Which operation cannot be done easily on mild steel ?
(a) Drilling (b) Punching (c) Cutting (d) Hardening

59. Two angles are placed back to back and are connected by only one leg of each angle to the
same side of a gusset plate. The net effective area is A| + K A, where K is taken as

5A, 3A, SA+A, 3A,+A,

@ sa+a,  ©® FALaan, © Tsa @ T34,
60. In Unwin’s formulad = 6\/_t, units of d and t is taken as

(a) Millimeter (b)  Meter (¢) Centimeter (d) Decimeter
61. As compared to field rivets, the shop rivets are

(a) Stronger (b)  Weaker (c) Equally strong (d) None of these
62. The ratio of volume of voids (v,) in the soil to its total volume (v) is defined as

(a) Porosity (b) Void ratio

(c) Degree of saturation (d) Mass density

63. Density of the soil may be increased by
(a) Compaction (b) Consolidation (c) (a)and (b)both (d) Stabilization

64. Uniformity coefficient is the ratio of the following :
(@ DyjandD,, (b) Dj,andDg, (¢) Dyyand Dy, (d) None of these

65. The relation between void ratio (e) and degree of saturation (s) of soil is given by
S WG WS G
@ e=wg (b) e="g © e=7g D e=ywg

where, symbols have their usual meaning.

Series-A 10 KAU-03
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65.

SRR TR ! THET oTeETE Serdl ST &

(@ 5% (b) 10% () 15% d) 25%

g U STg i Ui U= o= st mar 2556 kg & 3R Wi Ht ardtaes Ui e o iy e
4260 kg &, T SIIE 3t & ght

(@ 60% (b) 52.75% (c) 53% (d) 53.25%

T 9.5 Tt At wie & ford aeg s =Han MR

(a) 4.0 T, (b) 5.0 T, (c) 6.0 fq. (d) 8.0 f.

M25 Ut &l Shishie sl T GHE Bt

(@ 3.5 N/mm? (b) 5.0 N/mm? (¢) 250N/mm? (d) 35.0 N/mm?

It T WA B g ST g% SHeiiTeh o § D 99 W SIEn ST Tebel §, e (live) HR AT €
(@) 0.75 kN/m? (b) 1.5 kN/m? (c) 2.0 kN/m? (d) 5.0 kN/m?

TS T 1 TR ST o 310 ot oTvalte § S i SaR §RT STERG €, % fofd qgar 37Hurd &

(a) I (b) 10 (c) 100 (d) e
T2 (strut) TTH

(a) TIAHER I (b) HUST U (c) T UM (d) TR U
g TETd | I H UfehaT ST | Té S ST Hebell 2

(a) =R (Drilling) (b) %01 (Punching)

(c) WA (Cutting) (d) @RI (Hardening)

Uie ¥ e et T gU 81 Vg GUST il Th-Uh Y57 T4 T & Uh &l 31X Siel Tt € | FHaet
TTEl §%eT (net effective area) A +KA, TR KHF I ¢

5A, 3A, 5A,+A, 3A,+A,
@ sava,  ©® Fagnan, © s @ i
I T d = 6\t # d Tel ¢ BT THEE
(a) ToelHieR (b) HIX (c) WJ=HRI (d) g
&= e & qehet, 3T e eidt &
(a) WA (b)  HHSIK (c) REXTSEd  (d) 9 9 i Tl
TR 1 T ST (v, ) T FT ST (v) T SIS el &
(a) T (b) TEmaremua  (c) Fgha 3w (d) & T
TR o Bl Sl ST ST Fehall &, Fefeiiad o g1 .
(@) Fead (b) TEA (¢c) (a)T@T (b)3HT (d) TR

YU 0T T A Fefeiiad o1 3Fard el & : . ‘
(@) D,,@D,, (b) D@Dy, (c) D@Dy, (d) FTHIHE T

31 % R 3T (e) e Twdm i feult (s) W qwee gian &
S WG WS G
(a) e= WG (b) e= 5 (c) e= G (d e= WS

STET, Teiteh! % G 3T ¥ |

KAU-03 11 Series-A



11 www.jkchrome.com www.jkchrome.com www.jkchrome.com

66. When c is cohesion, ¢ is the applied normal stress ¢ is angle of internal friction, the shear
strength of the soil T will be equal to
() T=c-otand (b) T=c+octand (c) T=0c+ctandp (d) T=CG-ctan

67. A soil sample has a porosity of 40%. If G = 2.70, the dry density of soil will be
(Y, =981 kN/m?)

(@ 15.89kN/m®* (b) 31.78kN/m?® (¢) 17.85kN/m> (d) 19.81 kN/m?

68. Load carrying capacity of the foundation on sand, mainly depends upon
(a) length of the foundation (b)  depth of foundation
(c) breadth of foundation (d) size of foundation

69. The dry unit weight of a soil sample is 1.9 gm/cc and the specific gravity is 2.65, what
will be the porosity of the soil ?
(@ 2991% (b) 28.30% (c) 2.83% (d) None of these

70. The liquid limit and plastic limit of a soil are 35% and 15% respectively. If the flow index
is 10%, then toughness index is
(@ 1.0 (b)y 1.5 (c) 20 (d 25

71. The liquid limit and plastic limit of a cohesive soil are determined in laboratory as 40%
and 20% respectively. The plasticity index of the soil will be
(a 10% (b)y 20% () 30% (d) 40%

72. When water content in a soil is reduced beyond the shrinkage limit
(a) the total volume of soil will reduce.
(b) the total volume of soil will remain<constant.
(c) the total volume of soil will.increase.
(d) None of these

73. The permeability of cohesive soil is best determined by using
(a) Falling-head permeameter (b) Constant-head permeameter
(¢) Oedometer (d) None of these

74. The Darcy’s law states as
(@) Ve A (b) V<Q (¢c) Veh (d Ve<i
(Notations have their usual meaning)

75. Coefficient of consolidation is measured in

(a) cm?/g (b) cm?/sec () glem?/sec (d) g-cm/sec
76. Sheep foot roller is mostly used for the compaction of which type of soil ?

(a) Clays (b) Silt (¢) Sand (d) Gravel
77. The relationship between void ratio (e) and porosity (n) is

(@) n:lze (b) n:lge © n=7os @ n=7g

78. A pile which obtains most of its load carrying capacity at the base of pile is known as
(a) end bearing pile (b) friction pile
(c) composite pile (d) None of these
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

g ¢ TESThdT, ¢ UFHT ST Afdeet, ¢ HUN % s ST=Reh TY0T HI0T &, A T BT STOEY0T
e T 1 A BT

() T=c-otan¢ (b) T=c+octan ¢

(c) T=0C+ctan ¢ (d T=0-ctan¢

TS TT UTReT i GRS (porosity) 40% & | afE G = 2.70, T T Y&k Tca &N

(v, =9.81 kN/m?3)

(@ 15.89kN/m*® (b) 31.78kN/m*> (c) 17.85kN/m> (d) 19.81 kN/m?

o] W T T g H AR-Te &7 J&7 €9 9 5l T R et € 2
(a) ATHAEE (b)) TIHMERE () TAGHAEE  (d) G H IMHR

T G3T UTd=eT T I[&h Ueheh W 1.9 UMY U T TSI & T ST o T faIf¥Tee TToed 2.65 ,
Tl 93T T LT Bt

(@) 29.91% (b) 28.30% (c) 2.83% (d) TH & ®fE Tl
TS T I Gt WA R oA G AT 35% U 15% € | 9 S9! v gashish 10% @,
ST ATSTT GHIh FAT BT 2

(@ 1.0 (b)y 1.5 () 2.0 (d 2.5

TS AT YT 1 aReT T 3 oA FHT TFATCT | 3HST: 40% 31X 20% dreft Wi | 39
3T T e goshich T N 2

(a 10% (b) 20% (© 30% (d) 40%

Jf ol &1 | Ut St HIET <l Fepar W1 & 9 Y 19q1 ST, T o GaT (o 31aer § gl 2
(a) ST I FoA I HT A | (b). TRT T FeT AT =R T |

(c) =1 et AFAT T T | (d) T T B &

TSI GIT St TR hi {68 TFTT FRT AT fohal ST & 2

(a) TRA-3MT (falling-head) TRI=HAT WieTsh o=

(b) TERIM (constant-head) TR TteTes I

(©) aﬂ?ﬁ?ﬂa (oedometer)

(d) ST A T HIg &l

STt o e e € R

(a) V<A (b)) V<Q (c) Veh (d Vi
(Fehell ol 3oh FHEM 319 | T fohar a1 7)

e T[Tk T b T B AT € 2

(a) 9E /o (b) THI AT  (c) THAMHAET (d) THE-GH/AET

I F e oha TR i Go1 & e o forw o & 2

@ fdtgm (b)) TR () (3T d) =R
eI ST (e) T TIAT (n) H T4 &
1 1
(@ n= Ze (b) n= ee (© “=1ie () n=lie
=T TUT (pile) ST ST ST TR-HROT &1, TOT (pile) F SR § W FHIcll &, 38 Fct &
(a)  Sie-uRe ST (b) EETEEm
(c) Gt o (d) T F BT T
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79. A soil has bulk density 2.3 g/cc and water content 15%. The dry density of the soil sample
is

(a) 1.0glcc (b) 1.5g/cc (c) 2.0g/cc (d) 2.5g/cc
80. Undisturbed soil sample is obtained by

(a) Direct excavation (b) Thin walled samplers

(c) Thick walled samplers (d) Augers
81. The largest value of stability number for soil is

(a) 0.26 (b) 0.13 (c) 2 (d 4
82. Maximum size of silt size particles as per L.S. classification is

(a) 0.425 mm (b) 2mm (¢) 0.75 mm (d) 0.075 mm
83. Lime stabilisation technique is very effective to improve properties of

(a) Silty soil (b) Sandy soil

(c) Plastic clayey soil (d) Non-plastic soil
84. Coefficient of consolidation of a soil is affected by

(a) Compressibility (b) Permeability

(¢) (a)and (b) both (d) None of these

85. The action of negative skin friction on the pile is to
(a) increase the ultimate load on the pile (b) reduce the allowable load on the pile
(c) maintain the working load on the pile (d) reduce the settlement

86. Which test is carried out to determine the safe tension for a pile ?
(a) pull-outtest (b) lateral load test (¢) cyclicload test (d) none of these

87. For uniformly graded soil, the value of uniformity coefficient (c,) is approximately
(@ 1 (b) 3 (¢ 4 (d 6

88. In a cohesion-less soil deposit having a unit weight of 1.5 t/m> and an angle of internal
friction of 30°, the active and passive lateral earth pressure intensities (in t/m?) at a depth
of 10 m will, respectively be
(a) 15and5 (b) 5Sand45
(¢) 10and?20 (d) 20and 10

89. If K is coefficient of permeability, m, is coefficient of volumetric change and v, is unit
weight of water, then coefficient of consolidation will be

m, XY, K x '
(@ C,= m, X7, b)) C,= K © C,= m, (d) None of these
90. Density index of soil is
e .. —¢ e__+e e .. —¢
(@ L,=—"—@0b) I,=—"—() I,=—""——(d) None of these
b €max ~ Cmin D €max ~ Cmin D € max + € min

91. A pycnometer is used to determine
(a) Void ratio (b) Dry density (c) Water content (d) Density index

92. The maximum pressure which a soil can carry without shear failure is called
(a) Safe bearing capacity (b) Net safe bearing capacity
(c) Net ultimate bearing capacity (d) Ultimate bearing capacity
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79. A YT H A T 2.3 g/cc T A Hl AET 15% €, A SHHN Yh T 2

(a) 1.0glcc (b)y 1.5g/cc (c) 2.0g/cc (d) 2.5 g/cc
80. TT T T[S THAT [oh Tafer gRT fotar T Tehell € 2

(a) T @Rt (b) UAGH-SER | §RT

(c) TIE-IER el 51T (d) sETERT
81. U1 % o7 TR Wem o1 eifusha® /i eI

(a) 0.26 (b) 0.13 () 2 d 4
82. TIT % HUN T AThaAT T, 1.S. TN & SFTAR eidl &

(a) 0.425 mm (b) 2mm (¢) 0.75 mm (d) 0.075 mm
83. AT ERT TN T [ohT TR hi e o foTw siferes orelt & 2

(a) T (b) @] g1 (c) ga@fawifaedt  (d) s g

84. U gt 1 Fa e fRad wifad g & 2
(a) HUrEHdm (b) U (c) (a)TA (b)3HAT (d) TH § HIg &l

85. TUT (pile) H THRIcHS =T THOT T T
(a) TN (pile) W T YR &l FEIAT & |
(b) TIUT (pile) W W™ qR i HH FHIAT ¢ |
(c) O (pile) T HIEHRT IR H I TEAT ¢ |
(d) FoRTHR FTFAY |

86. M W1 URIRIVT TUT o foTw FRIT T e he o ford fera <rem & 2

(a) Fa=ma (foemom wieror (b) TS AR TRET
(c) IhiT W TRI&T0T (d) T F B T
87. FMHHCA HST HT o AT JFAITHET O (c,,) 3T HIF Il &, THTHT
(@ 1 (b) (c) 4 d 6

88. U HESH-IfEA T STTe, fSTent Uitk TR 1.5 /A3 AT 31icieh &HoT hivr 30° ¥, o |isha 31X
fAfshar gaT e <1 dferar (ZA/H2 ®) 10 |, 6 TEE 9 HE: B
(@) 1575 (b) 5@ 45 (c) 1020 (d) 20710

89. T qRITT o K, ST UREH o1 m, X T 3 3615 R vy, B, A Se OTies

m, XY, nyw ) !
© C="h (d) T I FE T

K
@@ C =, Y by C =%
90. TSI I T GEHIH BT &
Cmax — € Crax T € Cmax — € . ;
@ Ip=g— o) Iy=g— - (© Iy=g— - (0 FHIRT

max min max min emax + ermn

91. TUSFIIRR @ T 9 i € 2
(a) Reaarsaa (b) IS T (c) UHHAET  (d) =T IHEH

92.  IOET ferherd o o, R ST 3Tk aTe W Wehd! €, el &
(a)  GeAT &RoT & (b)  ¥E TR HOT &3
(c) T[E oA YR &THe (d) =RH YRT &HAT
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93. Under-reamed piles are generally

(a) Driven piles (b) Bored cast-in situ piles

(c) Precast piles (d) None of these
94. By means of compaction, the following properties of the soil increase :

(a) massdensity (b) shearstrength (c) stability (d) All of these
95. In friction piles, the load is transferred through

(a) skin friction (b) their bottom tips

(¢) (a)and (b) both (d) None of these

96. Trapezoidal combined footings are required when
(a) the space outside the exterior column is limited.
(b) the exterior column is heavier.
(c) Both (a) and (b)
(d) None of the above

97. The angle of the failure plane with the major principal plane is given by

() 45°+¢ (b) 45°+% (©) 45°—% (d)  45°—¢

(where ¢' is the angle of shearing resistance)

98. Undisturbed soil samples are required for conducting
(a) Hydrometer test (b) Shrinkage limit test
(c) Consolidation test (d) - Specific gravity test

99. The critical gradient for all soils is normally
(@ 05 (b)y 1.0 (c).i> d 25

100. The relationship between air content of soil (a,) and its degree of saturation (S,) is
expressed as
(@ a =1+S, (b) a =S,-1 (¢c) a=1-S (d) None of these

C T

101. If d and n are the effective depth and depth of neutral axis of a singly reinforced beam, the
lever arm of the beam is

@ d+n () n-d ©) d+% ) d—%
102. The maximum area of tension reinforcement in beams should not exceed
(@) 0.15% (b) 1.5% ©) 4% d 1%

103. If E_ and E_ are modulus of elasticity of concrete and steel respectively, then the modular

ratio (m) will be

E E E +E 4E
@ 5 ® 5 © E-g & |
C

S S C S

104. In case of a reinforced concrete beam, as the percentage of tension steel increases
(a) depth of neutral axis decreases
(b)  depth of neutral axis increases
(c¢) there is no effect on neutral axis
(d) None of the above
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93.

9.

9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

=T 37 et wqom el ©

(a) Ve o (b) Sfed EEIH-gel ToT

(c)  oiee! T d) QB T

g fafer gRT, g1 o Fefefad 1or o S €

(a) TEUAEAA  (b) ORI AW (¢) EE (d) TE T
HHUT o7 H, YR g fhaeh §RT SR g & 2

(a) o TN Y (b) TP TEAl AIH T

() I (@ (b)H (d) T HE T

TIYSTRR GIFT AT Sl ST Blelt & ST

(a) SR TR & deT aTell T 9 edT € |
(b) RN TR IR BT |

(c) 3MI(a) T (b)

(d) SR d F BIE Tl

e 9= acA F TIheAdT et 1 T el &
(a) 45°+¢ (b) 45°+% (©) 45°—% d) 45°—¢'

(STET ¢' STUETUT UTarer ST SHI0T & | )
38T HRT FHA i AT e TLeT0r o e it & 7

(a) TSGR URIEToT (b)  FeporT T TreTor

(c) = TRiEIoT (d) fafere e wteror

Shifcieh TeUTeT ST | T Teh shl HST o feld |IHr=: eiel &

(@ 0.5 (b) 1.0 (c) 1.5 (d 2.5

T 1 AG-ATT (a ) TS STt Hefeed AET (S,) H Taw I S €, FF % g/
@@ a=1+S (b a=S-1 ) a=1-S () FTHIHETR

T fepelt Uehet Tafeld &R § TTEl TedTE d TSI 3T i eI n ¥, A €A i STl ST gt
(@) d+n b) n-d © d+2 d d—=

3 3

Y T T YA T AIHAH SA%eT FATArgd 9 2Aeh Te1 81 ey
(a)  0.15% (b)) 1.5% ©) 4% d 1%
Ff< B, & B AT SHhic o ST % WoaTeerd T[OTih &1, A A 0T (m) ST 7 &

Ec Es Ec+Es 4Ec
@ § b g © g @ 5
TS JeTeAd bl &R W, T 31T &% g W
(a) SSTEM 37T T TS Tl § | (b) ST 37eT T TS el ¢ |

(c) SEIEI 3781 W I TG &l &Il | (d) T 9 T T
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10S. In a singly reinforced beam, if the stress in concrete reaches its permissible limit earlier
than that in steel, the beam section is called
(a) under-reinforced section (b) over-reinforced section
(c) economic section (d) critical section

106. Which of the following square slab will behave as one-way slab ?
(a)  Simply supported along two opposite edges
(b)  Simply supported along three edges
(c)  Simply supported along all the four edges
(d) None of the above

107. The shear reinforcement in a reinforced concrete beam is provided to resists
(a) bending moment (b) compression force
(c) diagonal compression (d) diagonal tension

108. Equivalent area of a reinforced cement concrete column section is
(@ mA +A (b) A +mA_ () A +A (d (A,+mA_ )o,
(Notations have their usual meaning.)

109. The diameter of longitudinal bars in a column should not be less than
(a) 8 mm (b) 10 mm (¢) 12 mm (d) 16 mm

110. The minimum number of longitudinal bars provided in RCC circular column is
(@ 2 (b) 4 () 6 (d 8

111. According to IS : 456 — 2000, side face reinforcement is provided in RCC beams, when
depth of beam exceeds
(a) 450 mm (b) 750 mm (c) 1000 mm (d) 1250 mm

112. As per IS : 456 — 2000, the minimum grade of concrete to be used in reinforced cement
concrete is
(a) M5 (by MI10 (c) M20 (d M25

113. In pre-stressed concrete member, it is advised to use
(a) low strength concrete only.
(b) high strength concrete only.
(c) low strength concrete but high strength steel.
(d) high strength concrete and high strength steel.

114. As per IS : 456-2000, the maximum spacing of shear reinforcement along the axis of the
beam for vertical stirrups should be less than
(a) 0.75d (b) 0.80d (c) 0.70d d 075D
(where D is total depth of beam and d is effective depth of beam)

115. In limit state design method, the partial safety factor for steel as per IS : 456-2000 is

(@ 1.5 (b) 1.85 (c) 1.15 d 32
116. The nominal shear stress (t,) in a reinforced concrete beam is given by
bd A" V -b
@ v ® g (©) V,-bd @ —g

u
(Notations have their usual meaning.)

Series-A 18 KAU-03



18 www.jkchrome.com www.jkchrome.com www.jkchrome.com

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

Tsh Ushel Tafeid &R W, A Shoblc A Ufdael ST 3T TAT W ST % Ghioel H Teet Igd
S §, A eRA-UReST FeeATdl &

(a) —gA-Vaferd uResg (b) -yl uR=g

(c) Thder uR=sg (d) i T

T S} T SRR Bl § 9 i T B Ush-1G¥ S &l aiE Hag’ HUT ?

(a) STFEH-9MA H S AR W YEEEd (b)) A ER W ETelEd

(c) IR 4RI W YTt (d) T8 F BT T

TelfeTd hehie XA |, TTEYUT Yeler {shdehT Uicre shiel & ?

(a) S MY (b) THEET IA (c) fowmviddes (d) fowol T

TelfeTd Tie hehie o TR UReds Sl FHqed &TheT &l &

(@ mA_+A_ (b) A +mA_ © A +tA, (d) (AC+mASC)(5C
(Fehelt ol Soh HIHT 319 | WNT foha 7am & 1)

el T 1 TRl St 1 o rfeiEa § % e e e

(a) 8 foe (b) 10 o, (c) 12 ft. (d) - 16 T,
TR I et Taieid WA hehie o T H S Bl I FATH T &l &

(@) 2 (b) 4 () 6 d 8

IS : 456 — 2000 % 3TIER, Yafcld HiHe Hshie &R & Uvd Helsh H Taet ol Sl €, STel &=
Tl e FEleiEd § ST 8idl ¢
(a) 450 foe. (b) 750 Tae. (c) 1000 To. (d) 1250 fo,

IS : 456 — 2000 % 3TER, Fafeid WA Hshie o 1 & Hhie I FHAqH U Bidl &
(a) M5 (b) MI0 (c) M20 (d M25

Td-Hfaaerd hehic | HE=TaRad o SUaT i Tole &1 STt &
(a) hoel T W TTeTt Shshie

(b)  hoieT oI WA Al hshie

(c) T T arelt Shehic TR o9 |HeA aTell SedTd
(d) = W arcl Hehic a9l Sod JHeY arel 31T

IS : 456-2000 % IR, AL’ Toidh & [0 8T BI 37T i G0 T TIEI0T Yarer o
3Tfeshae 3ot fhed 1 BT 18T 2

(@ 0.75d (b)y 0.80d (c) 0.70d (d 075D

(ST D €’ I WheT TETE Te d Tl e &)

IS : 456-2000 % AR fefqe W aifirshey fafy o, geura & fo1d 3tiferer e 7otk o1 A g
3

@ 1.5 (b) 1.85 © 115 d) 32
TEfeTa Shehie U H SAAfed SToeTur ufdeet (t) B &

bd A V,-b
@ ® () V,-bd d 3

(e S e o 3 e e T E )
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117. The formwork including the props can be removed from beams only after

(a) 1day (b) 3 days (c) 4days (d) 14 days
118. When shear stress exceeds the permissible limit in a slab, then it is reduced by
(a) increasing the depth of slab (b) providing shear reinforcement
(c) using high strength steel (d)  using thinner bars but more in number

119. In limit state design of concrete for flexure, the area of stress block is taken as
(@ 053f,-X, () 0446f, X, (c) 0420f, X, (d 036f, X,

120. If f, and fy are characteristic strength of concrete and yield stress of steel respectively and
E_ is modulus of elasticity of steel, the ultimate flexural strain in concrete can be taken as
f f

ck y

(a) 0.002 (b) 1000 (c) 0.0035 (d) LI5E, + 0.002
121. Spacing of stirrups in a simply supported rectangular beam is

(a) kept constant throughout the length of beam.

(b) decreased towards the centre of beam.

(¢) increased at ends.

(d) increased towards centre of beam.
122. The minimum grade of concrete for pre-tensioned member is

(a) M30 (b) M35 (c) M40 (d M60
123. High strength concrete possesses

(a) higher modulus of elasticity (b) small creep strain

(c) Both (a) and (b) (d) ~None of these
124. In reinforced concrete, lap splice should not be used for bars having diameter larger than

(a) 16 mm (b) 20 mm (¢) 10 mm (d) 36 mm
125. Torsional reinforcement is provided in slabs when

(a) corners are held down.

(b) slab makes monolithic construction with wall.

(c) Both of the above

(d) None of the above
126. Method used to make an estimate is

(a) thin wall and thick wall method (b) centre line method

(c) Both(a) and (b) (d) centre of gravity method

127. The unit for measurement of damp proof course is
() m (b) m? (c) m? (d) None of these

128. While submitting a tender, the contractor is to deposit a certain amount of money of the
estimated cost. It is called

(a) Security money (b) Contract money
(c) Earnest money (d) None of these
129. The most reliable estimate is
(a) Detailed estimate (b) Preliminary estimate
(c) Plinth-area estimate (d) Cube rate estimate
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117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

UTeq Glied wiHeeh i € § /T ST TehdT & sholdl F g |
(@ 1% (b) 3f= (c) 4= (d 1473

T B B ST6 STOEI0 Ufdeel SFRiF ST & ek & STl &, 9 39 59 fohar S &
(a) A B TETE TEHT | (b)  3TTEUYT USAT USH I |
(c) ST QL HT T TN HY | (d) Tl W= 3MTHH T& H TS AN HT |

T & {1 shepie o foifie R iy |, Uldee sifeh o1 &%l 8N
() 0.53f,-X, (b) 0446, -X, (c) 0420f, X, (d) 036f, X,

A £, T £, ST bl Hi SATAAUT WIHA TN T H GH Uil € R E( T H
AT TUTieh &, A Shshie | R TH-forhid gt

f f
(@) 0.002 (b) #80 () 0.0035 (d) ﬁs%m.ooz
* S

T YHTAMEd TR €1 | JeTdeh Fl e
(a) ORF B g0 g | T g € | (b) R % H H AL EATE |

(c) ToU=® AXTeaAe | (d) TWAFH A D AR TS & |

(a) M30 (b) M35 (c) M40 (d) M60

Ie HHL i Shehie Tadl &

(a) SoECR YAl I (b)  THH TE-foETT

(c) M (a) T (b) (d) TH 9 HiE @

Talteld hehie |, 39 D H T R &l fohar Srdr et = T AF BT g |
(a) 16 T, (b) 20 . (c) 10 o, (d) 36 fam.

T H UST Yo ST ST & ST

(a) I A S @ | (b) od IER F T THET Al &l |

() S gl (d) T @ B T

SO & o fafir b1 o feha T & 2

(a) Al ER IR W2l Jar oty (b) T fafy

(c) g (a) 3R (b) (d) T o foif

T % HIG AT IS &

(@ (b) w2 (c) =P (d) T Y PR T

fHferer T e @Ea, IheR ot AT TRT Tk (Hivea qnn § g S At Bidl € 159
Fed &
(a) T e (b) T () sRA= U™ (d) T EHE T

Y YIEHE AU i T 2
(a) INER (@faEr) e (b) WA MO
(c) - oA (d) EH-ET AR
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130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.
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In a construction project, the time corresponding to minimum total project cost is
(a) normal time (b) crash time
(c) between normal and crash time (d) None of these

Number of bricks needed for 1 cu.m. brick work will be

(a) 1350 (b) 650 () 500 (d) 550

The water absorption capacity of first class bricks should not be more than

its weight.

(a) 30% (b) 25% () 16.6% d) 50%
Lime concrete is prepared by using aggregate and as binding material.
(a) slaked lime (b) quick lime

(c) mixture of quick lime and cement (d) lime stone powder

The age of a tree may be ascertained by the

(a) radius of its stem (b) number of branches

(¢) circumference of its stem (d) number of annual rings
Which of the following is not the constituent of a paint ?

(a) Iron oxide (b) Sodium chloride

(c) Turpentine oil (d) Linseed oil

The vertical member used in a door frame is called

(a) Post (b) Sill (¢) Rail (d) Bracing
Soundness of cement is tested by

(a) Vicat’s apparatus (b) Le-Chatelier’s apparatus

(c) Compression testing machine (d) None of these

The type of bond in which every course contains both header and stretcher is called
(a) Englishbond (b) Flemishbond (c) Mixedbond (d) Russian bond

The critical activity has
(a) zero float (b)  minimum float (c) maximum float (d) positive float

The base material for distemper is
(a) Lime putty (b) Lime (¢c) Cementwash (d) Chalk

Per capita consumption of water per day for domestic purpose should be
(a) 85 litres (b) 100 litres (c) 115 litres (d) 135 litres

www.jkchrome.com

of

Fire demand of water according to Kuichling’s formula, in litres/minute, is given by

(where P is population in thousands)

3182 3182
@ Q=3182P () Q="p"  © Q=38P @ Q=75

Maximum permissible amount of fluoride for domestic consumption of water should be

(@) 0.15 ppm (b)y 1.5ppm (¢) 15ppm (d 150 ppm

The velocity of flow of sewage in a combined sewer should not be less than
(a 0.3m/s (b) 0.75 m/s (c) 1.0m/s (d 6.0m/s

The time interval of cleaning of septic tank should not be more than
(a) 5 years (b) 1year (c) 6 months (d) 2 years

Series-A 22 KAU-03



22 www.jkchrome.com www.jkchrome.com www.jkchrome.com

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

TS FATOT aRESTT H, I et AErSTT i, e 9 & € g § 2

(a) AT HHI (b) w©HIHT

(c) WM §HF TS &9 999 & o9 (d) T F B T

T THIE ToMTE & & ToTT 221 i rarvaehdn 91 &I

(a) 1350 (b) 650 (c) 500 (d) 550

T FUT o T2 I T STENT0T FHAT ST AR T 3Tk &l e Aey |
(a) 30% (b) 25% (c) 16.6% (d) 50%
W-éﬁﬁzﬁﬁmﬁ%ﬁﬁ@aﬁqﬁﬁﬁa%m%g%wm%wﬁmﬁww%?
(a) =TI A (b) ESl

(c) AN T 3R e o s (d) T F IR H TS

fordlt U ol 3T fohgen! TETaa | el ORI S & 2 .

(a) THH = (b) TGS H FET

(c) o Uty g (d) =i St ot W& I
frfeifad & 9 =i9 91 U= 1 92 T8l ¢ 2

(a) oA AoEe (b) Tifedd FolEs (¢) drRUAHael  (d) el &1 do
TLETS A H el T i R Fed & 2

(a) @& (b) e (c) BT @) sifEm
e Sl GE=e19 1 G0 o S &

(a) ToepIe & SU=RoT gRT (b) AT & ITHT GRT

(c) YIS TXieTor 930 g (d) T HBE T

TS T WK o700 & T[S | 2T T TR &Il &

(a) 3TUST SE (b) TS S (c) Tafsa sTe (d) WraaE
Shifdeh TTiatery o aar &

(a) IA T (b) FAGH T (c) oAudpam @@ (d) TS ©d
=Y 9§ B 91 femr & o o9 HeREe & 2

(@) YR (b) =T (c) W am (d) =%

IRA § T SYANT & To7d et A wfafes o <t @ud i o &
(a) 857X (b) 100 T (c) 1157 (d) 1357

TohTeetTTT o1 o SER M-I o o STeT st /1T (Sfiex uid e M 9 & A1 ol STt &
( \"P . Fﬁ‘%‘)
3182 3182

(@ Q=3182P (b)) Q="p © Q=3182P (@ Q:$
o] STeTufd o o7 STt § Ffed wolkres ot stfaeshdy o 4 (=fanad gt =t
(3 0.15Wdwd.  (b) 1.59dEH. (c) 15drdiun, (d) 150 9r9rEy.

GIFT HaX | AT & UaTe 1 AT T & Tl 3T =T |
() 037/4 (b) 0.75T/9 (c) lLo#/A (d) 6.09/A

Qe 3o I GHE & A 77 9 3Tfeeh T8l g1 oMfey
(a) 599 (b) 139 (c) 67E (d 299
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Alum is a

(a) Coagulant (b) Flocculent (c) Catalyst (d) Disinfectant
Turbidity in water is due to

(a) Organic salts (b)  Suspended and colloidal particles
(c) Algae (d) Fungi

The trap used for an Indian water closet is called

(a)  Gully trap (b) P-trap

(c) Intercepting trap (d) Anti-syphon trap

Sewage treatment units are generally designed for

(a) maximum flow only (b) minimum flow only

(c) average flow only (d) Both (a) and (b)

Bleaching powder is

(a) Ca(OH), (b) ClO, (c) CaCl, (d) CaClOCI)
Separate soil pipe and waste pipe system is known as

(a) Single stack system (b)  One-pipe system

(c) Single syphon system (d) Two-pipe system

Wet latrine is also known as
(a) Earth privy (b)  Bore-hole privy (c) Aqua privy (d) Can privy

In small towns, the most appropriate system of sewerage is
(a) Separate system (b) Combined system
(c) Conservancy system (d) Partially separate system

To sustain high external and internal pressures, the most appropriate sewer material is
(a) C.L pipe (b)  Steel pipe (¢) Vitrified clay pipe  (d) R.C.C. pipe

The sewerage system originates from
(a) Mainsewer (b) Housesewer (c) Outfall sewer (d) Sub-main sewer

In house plumbing system, the leakage of different pipes is tested by
(a) Smoke test (b)  Air test (c) Water test (d) All of these

www.jkchrome.com

The number of independent equations to be satisfied for static equilibrium in a space

structure is
(@ 2 (b) 3 (c 4 d 6

The relationship between Young’s modulus of elasticity (E), Bulk modulus (K) and

Poisson ratio (W) is given by
(a) E=2K{-2w (b) E=3K{+p
(c) E=3K{-2w (d E=2K{+pw)

For a circular cross-section, the relationship between the maximum shear stress (q,,,,.) and

average shear stress (q,,) is gives as

9 4 3 8
@ Gy g% ® A =39 © A =59 (D Ay =3y

The number of points of contraflexure in a cantilever beam are
(a) zero (b) one (c) two (d) None of these
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e gt &

(a) hEH (b) SOl (c) SORE (d) Tagsms

T ST TR0 Bl &

(a) TS AN T (b) TW=E (Suspended) Ta FHITLE! HUT T
€ FEI (d) wEEH

YRAT Orererd B o0 T U SHactrdl &

(a) Tl T (b) i-umE (c) TTEMSIUR (d) T=I-WIEH A@l
HoTehsTol TIeddT SehIedl WU 3TMehiedd i Sl &

(a) haeT ATHdT TeTd & (b) A AT T ]

(c) ool 3Mad Jed &q (d) TE(a) W (b)

AT TSeT &

(a) Ca(OH), (b) ClO, (c) CaCl, (d). CaCl(OCI)
AT T UIET TS 55 el IST UUTeAT shi el STell &

(a) T T YU (b) THA-UTET YOTAl

(c) Tl HIEHA T (d) Tg-urey yored

et ST &l hed &

(a) YEIER  (b) BT IR (¢) S TEMR (d) SRl EER

BT e H, FaTah SR afed-Hel WoTell &
(a) TUTHUUMA  (b) EIHT UOUNEN o (c) o HOI-SEA WU (d)  STTeIsh-gereh HoTelt

31T ATEdl el 3T ST i e i o [oTU, FaliTersh SUeR Wer ugTe &

(a) E1.37E. q=T (b) e e
(c) hiTed 9iE Uy (d) vaTed HHe SHehic TEd
HoAHSTA SHEET T TE3T Bl &

(a) THATTAE (b) g Tora o (c) TUATmeFar® (d) 3U-T& HoHel

& TSR ot H, fafi= aTeut o @ i S @ S &
(a) YN TR I (b)) TIWIT  (¢c) SAWFTTH (d) T o

T Tl ST § WA T S G HA aTell W QeI B T gt &

(@ 2 (b) 3 () 4 (d 6

T YR HTi (E), e 1aieh (K) 31 9iaa 31 amd (W) & s 9w &

(@) E=2K({-2w by E=3K({d+pw

(c) EB=3K(l-2u d) E=2K(l+pw

T g AR W, e ST Hiqee (q,, ) U6 S ST Hiaed (q, ) H W aa §
9 4 3 8

@ Q=g ® 4T3 © A =39% @ g T3y

Tk U € 1 o Afd aRerd faeg & 2

@ = b) T © (d) T I FE T

KAU-03 25 Series-A



25 www.jkchrome.com www.jkchrome.com www.jkchrome.com

161. The maximum deflection of a cantilever beam of length (L) with a point load (W) at the

free end is
WL3 WL3 WL3 WL3
@  SEr ®)  FE ©  T6EI @) I8ErD

162. The load shared by the member BC of the structure shown in figure below is :

Aa rt

302 B
C
(a) 20/3t (b) 3\/5 t (c) 4t (d) 3t
163. Slenderness ratio of an RC column is the ratio of its length to its
(a) shortest side of a column (b) long side of a column
(c) area of cross section (d) None of these

164. A steel rod of 2 cm? area and 1 metre in length is subjected to a pull of 40,000 N. If
Young’s modulus is 2 X 103 N/mm?, the elongation of the rod will be
(a) 10 mm (b) 100 mm (¢) 1mm (d 0.1 mm

165. A cantilever beam of span L is subjected to a u.d.l. of W per unit length intensity
throughout its length. The maximum deflection in the beam will be

WL* WL* WL* WL
@ SRl ®)  QE ©) “Zg EI @ 96k
166. If Poisson’s ratio for a material is 0.5, then the elastic modulus for the material is
(a) three times its shear modulus (b) four times its shear modulus
(c) three times its bulk modulus (d) two times its bulk modulus

167. A simply supported beam carries two equal point loads ‘W’ at a distance of L/3 from
either supports. The bending moment at mid span is

5 WL 2 WL WL
- (b)  —3— © =3 (d) zero

168. The Euler’s crippling load for a 2 m long slender steel rod of uniform cross-section hinged
at both the ends is 1 kN. The Euler’s crippling load for a 1 m long steel rod of the same
cross-section and hinged at both the ends will be
(a) - 2kN (b) 4kN (c) 6kN (d 8kN

169. The force in the vertical member of the truss shown in figure will be

/
_T_ 7 5t
7
2m 7
2 3t
7
7
A—2m —fe—2m —
(a) 2t (b) 5t (c) 8t (d) zero
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T U &R {51! ofwmg (L) de 39 gort faR 0 (W) fog R & €, at stferepay faeta o1 7=
B

WL3 WL3 WL3 WL3
@  QEr ®) 3Er © J6EI @ 38E
T2 T3 fo o =T % 9ee BC WX e R ST 2
2t
A 300 "B
C
(a) 24/3t (b) 3\/§t (c) 4t (d) 3t
e shshle TR ol AT 3T STH! oAwlg o T U &Il & |
(a) T™T P ID SIS ST (b) TRT Tl Tl ST
(c) URTT I &TTHeT (d) T 9 HIE T

TS T i T T &1t 2 TH2 SR o=mE 1 1 € | I8 W 40,000 =Fe H fgamg ae7 o &
T 1 afg = A 2 x 105 e/ &, @ s § e fagar g 2
(@) 10 T, (b) 100 Ta. (c) 1fm (d) 0.1 ==

L o st U hefeliay &R T W Tfd I5hTE oTwiTe dislall o1 THfadd J) ot fogha o orm
T | 9 1 e bt BT

WL* WL4 WL* WL4
@GRl ®) BEr ©  28EI @ e e
e TRl IR 61 G ST 0.5 &, T ST Wl HIdieh -7 & 2
(a)  STIWYV] AU H A AT (b)  STIBYYT HIYH I TR TAT
(c) AT T T A AT (d) TEAT [T ] AT
TS TR SR &R o JA1 (R & ‘L/3° & g WS IH g 9k W fed € 1@ e &
e T foheiT - 31T 21 2
5 WL 2 WL WL
@ —3— by =3 © 3 d) I3

T & U 2 H, Tl 99-UNwss arel S, Mas 31 fY &1 &, & fow omaer o e 1 fopett
e & 1 T8 % g UNESE el 3K S I IR @S 1 T el 98 o foTT §T- <R B 2
(@) 2fFefi =T (b) 4fFeli=ET  (¢) 6fkeli=ed  (d) 8 fhell e

i <t T el o SRt e W fehdHT o1 B 2

T

2m

— 2 m —e— 2 m —
(a) 2t (b) 5t (c) 8t d I

St

3t
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170. The shear force diagram for a simply supported beam of span L is shown in figure. The
maximum bending moment in the beam is

T
z +Ve |<_ a _’IT
fe— a — Ve |w
N
) L .
WL L
(a) > (b) W(E_ ) c) W-a (d W(oL-a)

171. The ratio of the moment of inertia of a rectangular section about its base and an axis
parallel to its base and passing through its centre of gravity is

(a 1.0 (b)y 2.0 (c) 3.0 (d 4.0
172. The maximum value of Poisson’s ratio for an elastic material is
(a) 0.25 (b)y 0.5 (c) 0.75 (d 1.0
173. If a material has identical properties at all locations, the material is assumed as
(a) Isotropic (b) Elastic (c) Homogeneous (d) - None of these

174. When a solid shaft is subjected to torsion, the shear stress induced at its centre is
(a) zero (b) maximum (c) minimum (d) average

175. If the shear force at a section of a simply supported beam is zero, the bending moment at
the section is

(a) zero (b)  maximum
(¢) minimum (d) average of maximum and minimum
176. The simple bending equation is
M R f Nl W M E f L
@ T8y O NT T-rRy @ T=g=%

(Notations have their usual meaning)

177. The thickness of slab base for steel column is given by

W [w
() t= F—b(A2—B2) (b) t= 3—Fb(A2—B2)

- E(ZB_z) B 3_w(213_2)
(© t= FbA—4 d t= F, A—4

where, symbols have their normal meaning.

178. For a column of length L having one end fixed and other free, the effective length of the
column is

L
(a) 2L (b) L © > (d) NG

179. The maximum bending moment, for a simply supported beam of span L and having a
uniformly distributed load ‘W’ per unit length all over its length, is
WL? WL? WL? WL?
@ b © g @ 5

180. The ratio of lateral strain to longitudinal strain is called
(a)  Strain ratio (b) Modularratio (c) Poisson’sratio (d) Young’s modulus
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U YETad (VX SENG) 93T i ovams L ¢, [ee et ao-a fox 7 femmn o €,
ST SheA S-S0 &
T
_\z Ve e— a —'I_‘Ir
=2 — Ve |w
52
[ L g
WL L
(a) > (b) W(E—) (c) W-a (d W(@L-a)
TS SIAHR IR & YR W A Y q21 MR & FHFRR 39 o 5§ Sl g8
3787 UX STged 30T ol ST Bl €
(@ 1.0 (b)y 2.0 () 3.0 (d 4.0
Teh TR USTY o fordl Sifushad Uiage 31Ut il &
(@ 0.25 (b)y 0.5 () 0.75 (d 1.0
=it feopell vRTel ¥ el W, TH 0T &, A U ORI i e e & 2 . ‘
(a) TETH (b) TR (c) o (d) T HE T
T 2 9 0 U oM & | 36k v R STTET0T Hicisied &I
() T[A (b)  atfgeRad (c) FAm (d) oia
Ife Tl SrgTettiar € % fohdll Sh1e TR TS 56 3 &, A 39 HIE T Sh-37E0T BT
(@) I3 (b)  3MIHAH
() IaH (d) 3R 3R =TT T S
T Shd FHIHIOT &
M R f L M M E f M R
@ T=g=y ® y=g=y © T=g=, @ T=g=F
(Fehell T 37 S THT B 4 §)
TET &R % 3R e ol TS STl &
(W 2 @2 b _ w 2 _R2
(@) t=n\ [F, (A*-BY) 0 t=n\ [35 (A~ B
W B2 3W B2
— — (A2 _— d — — | A2 _—
() t Fb( 4) (d t Fb( 4)

ST, Tefieht & QR 3T ¥ |
TS ‘L7 o Uk TR T U [ORT 3Teg 37 qOT Fay ot @1, ot 3/ T ot Jrat oeae gy

L L
(a) 2L (b) L © 3 (d) NG
T ‘L forgia o YRt 6R B W T W W Ui TRt oTe o gu-fgaid IR e |
YT H SATYHAH Seh- ST BT
WL2 WL2 WL2 WL2
(@ —H5— (b) —— © —3 d 5
e forgpt T TR fagpf & o 1 el €

(a) TP e uEa (b)) TMHE I  (c) UEET o Id (d) I A
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